2R 7 FES

F

A 4

B RO EFE T,

DO x?—4x—21=0

@ x*—14x+40=0

B 4x*—Tx+1=0

@ x*+11x+10=0

®x*—14x+49=0

® 8x*—2x—3=0

D 5x2+4x—1=0

®x*—81=0

© x*—3x—40=0

10 x*—5x—5=0

) x*+4x+3=0

@ 9x*—12x+4=0

3 16x2—1=0

Wx*—7x+1=0

B x2—9x+14=0

5x2—x=0

) x*+10x+24=0

8 3x*+2x—8=0

19 2x2+9x+4=0

@) x*—4x—12=0

@) x*+2x—35=0
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2R 7 FES

_® M

B RO EFE T,

DO x?—4x—21=0
(x+3)(x—7)=0

x=-—3,7

@2 x*—14x+40=0
(x—4)(x—10)=0

x=4,10

B 4x*—Tx+1=0
L 7E433
8

@ x*+11x+10=0
(x+1)(x+10)=0

x=—1,—10

B x2—14x+49=0
(x—=7)?=0

x=7

v = 1£5
8
-3 _ 1
4’ 2
D 5x2+4x—1=0
. —2+3
5
1

® x2—81=0
(x+9)(x—9)=0

x==9

@ x?2—3x—40=0
(x+5)(x—8)=0

x=-5,8

0 x*—5x—5=0
L= 5%345
2

) x*+4x+3=0
(x+1)(x+3)=0

x=—1,—3

@ 9x*—12x+4=0

(Bx—2)*=0

3 16x2—1=0
(4x+1)(4x—1)=0

1
Ty

Wx*—7x+1=0

_7+345
X—T

) x*—9x+14=0
(x—2)(x—7)=0

x=2,7

5x2—x=0

x(5x—1)=0

1
X—O,?

) x*+10x+24=0
(x+4)(x+6)=0

x=—4,—6

8 3x*+2x—8=0

—1£5
3

x =

19 2x2+9x+4=0
—9+7

Q) x2—4x—12=0
(x+2)(x—6)=0

x=—2,6

@) x*+2x—35=0
(x=5)(x+7)=0

x=5,—7
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